

October 8, 2020 Kearney, Nebraska

> 1111 Central Ave. Kearney, NE 68847-6833 Tel: 308-234-6456 Fax: 308-234-1146

www.miller-engineers.com

Mayor & City Council City of Lexington P.O. Box 70 Lexington, NE 68850

Re:

East Addition Phase I Improvements

Project No. 127-A1-118

Dear Council Members:

On October 8, 2020 at 2:00 PM, nine (9) bids were received, publicly opened, and read aloud at the City of Lexington Council Chambers. Attached is a bid tabulation sheet. The bids are summarized below:

BIDDERS		BID A – Water & Sanitary Sewer	BID B – Paving & Storm Sewer
Van Kirk Bros. Contracting	Sutton, NE	\$511,248.00	No Bid
Midlands Contracting	Kearney, NE	\$534,015.00	No Bid
Myers Construction	Broken Bow, NE	\$688,748.02	No Bid
BSB Construction	Curtis, NE	\$732,078.00	No Bid
Paulsen, Inc	Cozad, NE	No Bid	\$831,804.00
TL Sund Constructors	Lexington, NE	No Bid	\$866,852.67
Dan Roeder Concrete	Kearney, NE	No Bid	\$915,797.00
Blessing, LLC	Kearney, NE	No Bid	\$940,650.15
Nielsen Contracting	Kearney, NE	No Bid	\$954,421.00

All proposals have been reviewed and there were a few errors in extending unit prices.

Bid A: The Engineer's Opinion of Probable Construction Cost was \$846,750.00. The low bid from Van Kirk Bros. Contracting is 40% below the Engineer's Opinion of Probable Construction Cost. Advertisements for Bids were transmitted to the attached list of Contractors, Planholders, and suppliers in the area for both bids. It is therefore recommended the bids be accepted and the contract awarded to Van Kirk Bros. Contracting in the amount of \$511,248.00 and authorization given to your authorized representative to execute agreements.

Bid B: The Engineer's Opinion of Probable Construction Cost was \$1,006,630.00. The low bid from Paulsen, Inc. is 17% below the Engineer's Opinion of Probable Construction Cost. It is therefore recommended the bids be accepted and the contract awarded to Paulsen, Inc. in the amount of \$831,804.00 and authorization given to your authorized representative to execute agreements.

Respectfully submitted,
MILLER & ASSOCIATES
CONSULTING ENGINEERS, P.C.

Tyler R. Hillmer, P.E

TRH/sb

**Enclosures** 

#### **BID TABULATION**

Date (	Opened: 10/08/2020			1		2		3		4		5	
	D PM (Local Time)			Van Kirk Bro	s.Contracting	Midlands C	ontracting Inc	Myers C	onstruction	BSB C	onstruction	Pauls	sen, Inc.
	t Name: East Addition Phase I Improvements			Sutte	on, NE	Kearney, NE		Broken Bow, NE		Curtis, NE		Cozad, NE	
	t Location: Lexington, NE		**	Total Bid A	\$511,248.00	Total Bid A	\$534,015.00	Total Bid A	\$688,748.02	Total Bid A	\$732,078.00	Total Bid A	\$0.00
	et Number: 127-A1-118			Total Bid B		Total Bid B	\$0.00	Total Bid B	\$0.00	Total Bid B	\$0.00	Total Bid B	\$831,804.00
Adde	idums Issued/Acknowledged:				1	1			1		1		1
Bid G	uarantee (type and amount)			5% Bid Bond		5% B	id Bond	5% B	id Bond	5% I	Bid Bond	5% Bid Bond	
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
WATE	R MAIN - SCHEDULE A												
1	Mobilization	1	L.S.		\$7,000.00		\$4,000.00		\$12,500.00		\$43,100.00		\$0.00
2	Furnish & Install C900 Water Main with Tracer Wire					_							
	a. 8" Diameter	1300	L.F.	20	\$26,000.00	\$19.50	\$25,350.00	\$23.43	\$30,459.00	\$28.45	\$36,985.00	\$0.00	\$0.00
	b. 6" Diameter	3500	L.F.	16	\$56,000.00	\$15.50	\$54,250.00	\$25.88	\$90,580.00	\$24.00	\$84,000.00	\$0.00	\$0.00
3	Directional Drill Water Main with Tracer Wire												
	a. 6" Diameter	60	L.F.	72	\$4,320.00	\$50.00	\$3,000.00	\$45.46	\$2,727.60	\$39.85	\$2,391.00	\$0.00	\$0.00
4	Furnish & Install Ductile Iron Fittings												
	a. 8"x6" Tee	4	Each	350	\$1,400.00	\$350.00	\$1,400.00		\$1,877.80	\$570.00	\$2,280.00	\$0.00	\$0.00
	b. 8" x 6" Reducer	1	Each	247	\$247.00	\$175.00	\$175.00		\$206.44	\$503.00	\$503.00	\$0.00	\$0.00
	c. 8"x6" Cross	1	Each	438	\$438.00	\$450.00	\$450.00		\$695.73	\$560.00	\$560.00	\$0.00	\$0.00
	d. 8" Plug	1	Each	185	\$185.00	\$150.00	\$150.00		\$124.83	\$500.00	\$500.00	\$0.00	\$0.00
	e. 6"x6" Tee	10	Each	310	\$3,100.00	\$300.00	\$3,000.00		\$2,850.30		· · · · · · · · · · · · · · · · · · ·		\$0.00
	f. 6" 45 Degree Bend	4	Each	220	\$880.00	\$350.00	\$1,400.00		\$1,082.40				\$0.00
	g. 6" 90 Degree Bend	2	Each	220	\$440.00	\$350.00	\$700.00	\$299.64	\$599.28	\$535.00			\$0.00
	h. 6" Plug	4	Each	135	\$540.00	\$125.00	\$500.00	\$84.18	\$336.72	\$445.00	\$1,780.00	\$0.00	\$0.00
5	Furnish & Install Tapping Tee w/Valve											1	
Ĺ	a. 6"x 6"	2	Each	3520	\$7,040.00	\$3,000.00	\$6,000.00	\$3,124.00	\$6,248.00	\$2,850.00	\$5,700.00	\$0.00	\$0.00
6	Furnish & Install Gate Valves and Boxes	· ·										!	
	a. 8" Valve	7	Each	1414	\$9,898.00					<del></del>			\$0.00
	b. 6" Valve	18	Each	1042	\$18,756.00	\$1,200.00	\$21,600.00	\$1,240.40	\$22,327.20	\$1,150.00	\$20,700.00	\$0.00	\$0.00
7	Furnish & Install Fire Hydrant					-	-						
	a. 5.5' Bury	11	Each	3115	\$34,265.00	\$2,750.00	\$30,250.00	\$3,771.14	\$41,482.54	\$3,235.00	\$35,585.00	\$0.00	\$0.00
8	Furnish & Install Connection												
	a. 6" Connection	1	Each	600							<del></del>		\$0.00
	b. 8" Connection	1	Each	800	\$800.00	\$275.00	\$275.00	\$826.72	\$826.72	\$710.00	\$710.00	\$0.00	\$0.00

Date	Opened: 10/08/2020			6		7		8		9	
at 2:0	0 PM (Local Time)			TL Sund C	onstructors	Dan Roed	er Concrete	Blessi	ng LLC	Nielsen (	Contracting
Proje	ct Name: East Addition Phase I Improvements			Lexing	ton, NE	Kearney, NE		Kearney, NE		Kearney, NE	
Proje	ct Location: Lexington, NE			Total Bid A	\$0.00	Total Bid A	•	Total Bid A	\$0.00	Total Bid A	\$0.00
Proje	ct Number: 127-A1-118			Total Bid B	\$866,852.67	Total Bid B	\$915,797.00	Total Bid B	\$940,650.15	Total Bid B	\$954,421.00
Adde	ndums Issued/Acknowledged:			]	1	11.00.1000	1		1		1
Bid G	uarantee (type and amount)			5% Bi	d Bond	5% Bi	d Bond	5% Bi	d Bond	5% B	id Bond
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
WATE	R MAIN - SCHEDULE A						5 5 0 W				
1	Mobilization	1	L.S.		\$0.00		\$0.00		\$0.00		\$0.00
2	Furnish & Install C900 Water Main with Tracer Wire		-					`			,
	a. 8" Diameter	1300	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	b. 6" Diameter	3500	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
3	Directional Drill Water Main with Tracer Wire										
	a. 6" Diameter	60	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
4	Furnish & Install Ductile Iron Fittings										
	a. 8"x6" Tee	4	Each	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00
	b. 8" x 6" Reducer	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	c. 8"x6" Cross	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	d. 8" Plug	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	e. 6"x6" Tee	10	Each	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00
	f. 6" 45 Degree Bend	4	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	g. 6" 90 Degree Bend	2	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	h. 6" Plug	4	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
5	Furnish & Install Tapping Tee w/Valve										
	a. 6"x 6"	2	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
6	Furnish & Install Gate Valves and Boxes										
	a. 8" Valve	7	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
e e	b. 6" Valve	18	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
7	Furnish & Install Fire Hydrant										
L	a. 5.5' Bury	11	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
8	Furnish & Install Connection								And the state of t		
	a. 6" Connection	1	Each	\$0.00	\$0.00	\$0.00	\$0.00				
	b. 8" Connection	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00

Г				1		2		3		5			
				Van Kirk Bro	s.Contracting	Midlands C	ontracting Inc	Myers C	onstruction	BSB C	onstruction	Pauls	sen, Inc.
				Sutto	on, NE	Kear	ney, NE	Broker	Bow, NE	Cu	rtis, NE	Coz	ad, NE
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
9	Furnish & Install Service Connection												
	a. 1" Diameter	43	Each	800	\$34,400.00	\$850.00	\$36,550.00	\$1,173.71	\$50,469.53	\$920.00	\$39,560.00	\$0.00	\$0.00
	b. 1 1/2" Diameter	25	Each	892	\$22,300.00	\$1,425.00	\$35,625.00	\$1,520.20	\$38,005.00	\$1,610.00	\$40,250.00	\$0.00	\$0.00
10	Remove & Replace				·								
	a. 6" Thick Concrete Pavement	40	S.Y.	60	\$2,400.00	\$90.00	\$3,600.00	\$66.00	\$2,640.00	\$160.00	\$6,400.00	\$0.00	\$0.00
	WATER	MAIN SUE	STOTAL		\$231,009.00		\$239,375.00		\$320,746.62		\$339,859.00	ĺ	\$0.00
SANI	ANITARY SEWER												M
11	Mobilization	1	L.S.		\$6,635.00		\$4,000.00		\$12,500.00		\$4,450.00		\$0.00
12	Furnish & Install SDR 35 PVC												
	a. 8" Diameter	3,900	L.F.	\$25.00	\$97,500.00	\$26.00	\$101,400.00	\$25.15	\$98,085.00	\$33.60	\$131,040.00	\$0.00	\$0.00
	b. 6" Diameter	1,500	L.F.	\$18.00	\$27,000.00	\$20.00	\$30,000.00	\$24.50	\$36,750.00	\$30.65	\$45,975.00	\$0.00	\$0.00
	c. 4" Diameter	1,950	L.F.	\$16.50	\$32,175.00	\$19.00	\$37,050.00	\$23.00	\$44,850.00	\$24.15	\$47,092.50	\$0.00	\$0.00
13	Furnish & Install Fittings, complete in place												
	a. 8" x 6" Wye	6	Each	\$70.00	\$420.00	\$125.00	\$750.00	\$148.08	\$888.48	\$365.00	\$2,190.00	\$0.00	\$0.00
	b. 8" x 4" Wye	26	Each	\$65.00	\$1,690.00	\$115.00	\$2,990.00	\$121.23	\$3,151.98	\$325.00	\$8,450.00	\$0.00	\$0.00
	c. 8" x 6" Double Wye	18	Each	\$90.00	\$1,620.00	\$250.00	\$4,500.00	\$548.35	\$9,870.30	\$450.00	\$8,100.00	\$0.00	\$0.00
	d. 8" x 4" Double Wye	14	Each	\$73.00	\$1,022.00	\$200.00	\$2,800.00	\$378.55	\$5,299.70	\$395.00	\$5,530.00	\$0.00	\$0.00
	e. 4" Plug	43	Each	\$68.00	\$2,924.00	\$150.00	\$6,450.00	\$69.20	\$2,975.60			\$0.00	\$0.00
<u></u>	f. 6" Plug	26	Each	\$70.00	\$1,820.00	\$155.00						<del></del>	\$0.00
<u></u>	g. 8" Plug	2	Each	\$70.00	\$140.00	\$160.00	\$320.00				<del></del>	<del></del>	\$0.00
14	Construct A-Lok Manhole	6	Each	\$5,130.00	\$30,780.00	\$4,800.00	\$28,800.00					\$0.00	\$0.00
15	Construct A-Lok Outside Drop Manhole	3	Each	\$7,620.00	\$22,860.00	\$7,000.00	\$21,000.00	<del></del>	\$19,285.74	\$6,600.00	\$19,800.00		\$0.00
16	Furnish & Install Gravel Bedding	7,350	L.F.	\$1.60	\$11,760.00	\$1.00	\$7,350.00	\$3.10	\$22,785.00	\$0.79	\$5,806.50	\$0.00	\$0.00
17	Furnish & Install												
ļ	a. 8" Cleanout Furnish & Install C900 PVC Force Main with Tracer	4	Each	\$1,000.00	\$4,000.00	\$1,275.00	\$5,100.00	\$753.65	\$3,014.60	\$900.00	\$3,600.00	\$0.00	\$0.00
18	Wire												1
	a. 6" Diameter	1,700	L.F.	\$15.45	\$26,265.00	\$13.00	\$22,100.00	\$32.50	\$55,250.00	\$26.35	\$44,795.00	\$0.00	\$0.00
19	Furnish & Install Ductile Iron Fittings, complete in place			<b>V.O.10</b>	<b>\$20,200.00</b>	<b>\$10.00</b>	<b>422,100.00</b>	<b>402.00</b>	400,200.00	<b>\$20.00</b>	<b>V</b> 1 1,1 00.00	<b>\$0.00</b>	<del>- 40.00</del>
L	a. 6" 45 Degree Bend	4	Each	\$235.00	\$940.00	\$350.00	\$1,400.00	\$471.11	\$1,884.44	\$660.00	\$2,640.00	\$0.00	\$0.00

	12.00		3	6	7	7		8		9	
				TL Sund C	onstructors	Dan Roed	er Concrete	Blessi	ng LLC	Nielsen (	Contracting
				Lexing	ton, NE	Kearr	ney, NE	Kearr	ney, NE	Kearr	ney, NE
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
9	Furnish & Install Service Connection										
	a. 1" Diameter	43	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	b. 1 1/2" Diameter	25	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
10	Remove & Replace										
	a. 6" Thick Concrete Pavement	40	S.Y.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	WATER	R MAIN SU	BTOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
11	Mobilization	1	L.S.		\$0.00		\$0.00		\$0.00		\$0.00
12	Furnish & Install SDR 35 PVC										
	a. 8" Diameter	3,900	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	b. 6" Diameter	1,500	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	c. 4" Diameter	1,950	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
13	Furnish & Install Fittings, complete in place			Ĭ							
	a. 8" x 6" Wye	6	Each	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00		\$0.00
	b. 8" x 4" Wye	26	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	c. 8" x 6" Double Wye	18	Each	\$0.00	\$0.00		\$0.00	\$0.00	\$0.00	·	\$0.00
	d. 8" x 4" Double Wye	14	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00
	e. 4" Plug	43	Each	\$0.00	\$0.00		\$0.00		\$0.00		\$0.00
	f. 6" Plug	26	Each	\$0.00			\$0.00		\$0.00		\$0.00
	g. 8" Plug	2	Each	\$0.00			\$0.00		\$0.00		\$0.00
14	Construct A-Lok Manhole	6	Each	\$0.00	,	<u> </u>	<del></del>				\$0.00
15	Construct A-Lok Outside Drop Manhole	3	Each	\$0.00		·	\$0.00	<del></del>	\$0.00		\$0.00
16	Furnish & Install Gravel Bedding	7,350	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
17	Furnish & Install				** **						
	a. 8" Cleanout  Furnish & Install C900 PVC Force Main with Tracer	4	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
18	Wire		Š								
	a. 6" Diameter	1,700	L.F	\$0.00	\$0.00	\$0.00	- \$0.00	\$0.00	\$0.00	\$0.00	\$0.00
19	Furnish & Install Ductile Iron Fittings, complete in place										
	a. 6" 45 Degree Bend	4	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00

	<u></u>			1		2			4		5		
				Van Kirk Bro	os.Contracting	- Midlands C	ontracting Inc	3 Myers C	onstruction	BSB C	onstruction	Paulsen, Inc.	
					on, NE		ney, NE		Bow, NE		rtis, NE		ad, NE
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
20	Furnish & Install Plug Valve & Box												
	a. 6" Diameter (Restrained to the Wye)	1	Each	\$1,566.00	\$1,566.00	\$1,600.00	\$1,600.00	\$2,331.56	\$2,331.56	\$1,550.00	\$1,550.00	\$0.00	\$0.00
21	Furnish & Install Force Main Cleanout	2	Each	\$2,811.00	\$5,622.00	\$3,000.00	\$6,000.00	\$3,175.00	\$6,350.00	\$2,550.00	\$5,100.00	\$0.00	\$0.00
22	Tap Existing Manhole & Rebuild Manhole Deck	1	Each	\$3,500.00	\$3,500.00	\$7,000.00	\$7,000.00	\$2,436.00	\$2,436.00			\$0.00	\$0.00
	SANITARY SEV	WER SUE	STOTAL		\$280,239.00		\$294,640.00		\$368,001.40		\$392,219.00	\$0.00	\$0.00
		TOTA	L BID A		\$511,248.00		\$534,015.00		\$688,748.02		\$732,078.00		\$0.00
PAVI	PAVING / STORM SEWER												
23	Mobilization	1	L.S.		\$0.00		\$0.00		\$0.00		\$0.00		\$26,000.00
24	Traffic Control	1	L.S.		\$0.00		\$0.00		\$0.00		\$0.00		\$1,200.00
25	Earthwork Measured in Embankment - Established C	6,858	C.Y.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$16.00	\$109,728.00
26	Overexcavate and Replacement of Unsuitable Base	250	C.Y.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$4.00	\$1,000.00
27	Construct P.C. Concrete Pavement 6" Thick, Type 47		S.Y.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00			\$565,095.00
28	Construct Integral Curb	8,200	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1.50	\$12,300.00
29	Construct Concrete Flume	165	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$9.00	\$1,485.00
30	Furnish & Install Reinforced Concrete Pipe, Class III												
	a. 18" Diameter	112	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$0.00	\$0.00	\$55.00	\$6,160.00
	b. 24" R.E. Diameter	680	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$73.00	\$49,640.00
31	Construct Curb Inlet With						7						,
	a. 4' Throat	5	Each	\$0.00		\$0.00	\$0.00		· ·	\$0.00	\$0.00		\$13,500.00
	b. 8' Throat	3	Each	\$0.00		\$0.00	\$0.00			\$0.00	\$0.00		\$11,400.00
32	Construct Grate Inlet	2	Each	\$0.00		\$0.00	\$0.00			· · · · · · · · · · · · · · · · · · ·			\$6,000.00
33	Furnish & Place Controlled Low Strength Material (Fl	301	L.F.	\$0.00		\$0.00							\$3,913.00
34	Construct Concrete Header	96	L.F.	\$0.00	•	\$0.00							\$480.00
35	Drill & Grout Tie-Bars	88	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$6.00	\$528.00
36	Remove & Haul											ļ	
	a. Curb & Gutter	340	L.F.	\$0.00		\$0.00					\$0.00	\$7.00	\$2,380.00
	b. Concrete Sidewalk	240	S.F.	\$0.00		\$0.00							\$960.00
	c. Concrete Pavement	90	S.Y.	\$0.00	<del> </del>	\$0.00							\$1,350.00
	d. Curb inlet	2	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$500.00	\$1,000.00
37	Adjust to Grade												
	a. Manhole	8	Each	\$0.00		\$0.00						\$400.00	\$3,200.00
	b. Valve Box	3	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$300.00	\$900.00

	12.00 (C) 12.00 (C)			6		7		8		9	
				TL Sund C	onstructors	Dan Roed	er Concrete	Blessi	ng LLC	Nielsen C	ontracting
				Lexing	ton, NE	Kearr	ney, NE	Kearn	ey, NE	Kearn	ey, NE
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
20	Furnish & Install Plug Valve & Box										
	a. 6" Diameter (Restrained to the Wye)	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
21	Furnish & Install Force Main Cleanout	2	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22	Tap Existing Manhole & Rebuild Manhole Deck	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
	SANITARY S	EWER SU	BTOTAL	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
•		TOT	AL BID A		\$0.00		\$0.00		\$0.00		\$0.00
		745									
23	Mobilization	1	L.S.		\$33,000.00		\$15,000.00		\$41,500.00		\$25,000.00
24	Traffic Control	1	L.S.		\$1,000.00		\$4,000.00		\$5,500.00		\$4,000.00
25	Earthwork Measured in Embankment - Established Qua	6,858	C.Y.	\$16.32	\$111,922.56	\$14.00	\$96,012.00	\$13.85	\$94,983.30	_	\$123,444.00
26	Overexcavate and Replacement of Unsuitable Base Ma	250	C.Y.	\$4.50	\$1,125.00	\$10.00	\$2,500.00	\$15.00	\$3,750.00		\$5,000.00
27	Construct P.C. Concrete Pavement 6" Thick, Type 47B-	15,150	S.Y.	\$39.25	\$594,637.50	\$43.50		\$42.00	\$636,300.00		\$651,450.00
28	Construct Integral Curb	8,200	L.F.	\$1.75	\$14,350.00	\$2.90		\$3.00	\$24,600.00	\$3.00	\$24,600.00
29	Construct Concrete Flume	165	L.F.	\$16.00	\$2,640.00	\$22.00	\$3,630.00	\$100.00	\$16,500.00	\$24.00	\$3,960.00
30	Furnish & Install Reinforced Concrete Pipe, Class III										
	a. 18" Diameter	112	L.F.	\$51.36	\$5,752.32	\$50.00		\$49.00	\$5,488.00	\$49.00	\$5,488.00
	b. 24" R.E. Diameter	680	L.F.	\$69.55	\$47,294.00	\$74.00	\$50,320.00	\$66.35	\$45,118.00	\$72.00	\$48,960.00
31	Construct Curb Inlet With										1
	a. 4' Throat	5	Each	\$2,605.45	\$13,027.25			\$2,483.75	\$12,418.75		\$14,000.00
	b. 8' Throat	- 3	Each	\$3,745.00	\$11,235.00			\$3,570.00	\$10,710.00		\$10,200.00
32	Construct Grate Inlet	2	Each	\$2,840.85	\$5,681.70				\$5,420.00		\$4,600.00
33	Furnish & Place Controlled Low Strength Material (Flow	301	L.F.	\$12.34	\$3,714.34				\$3,642.10		\$2,709.00
34	Construct Concrete Header	96	L.F.	\$20.00					\$1,920.00		\$1,920.00
35	Drill & Grout Tie-Bars	88	Each	\$11.00	\$968.00	\$5.00	\$440.00	\$10.00	\$880.00	\$5.00	\$440.00
36	Remove & Haul										
	a. Curb & Gutter	340	L.F.	\$8.00							\$1,700.00
	b. Concrete Sidewalk	240	S.F.	\$1.50	\$360.00						\$720.00
	c. Concrete Pavement	90	S.Y.	\$9.00	\$810.00						\$900.00
	d. Curb inlet	2	Each	\$150.00	\$300.00	\$500.00	\$1,000.00	\$875.00	\$1,750.00	\$500.00	\$1,000.00
37	Adjust to Grade						1				
	a. Manhole	8	Each	\$350.00						<del></del>	\$6,400.00
	b. Valve Box	3	Each	\$350.00	\$1,050.00	\$200.00	\$600.00	\$200.00	\$600.00	\$200.00	\$600.00

#### **BID TABULATION**

				1		2		3		4		5	
,				Van Kirk Bro	s.Contracting	Midlands C	ontracting Inc	Myers Construction		BSB Construction		Paulsen, Inc.	
				Sutton, NE		Kearney, NE		Broken Bow, NE		Curtis, NE		Cozad, NE	
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	c. Cleanout	4	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$300.00	\$1,200.00
38	Furnish & Apply Seeding, Mulching and Fertilizer							_					
	a. Type B	3	Ac.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$2,600.00	\$7,800.00
39	Furnish, Install, Maintain & Remove Erosion Control						•						
	a. Sedimentation and Erosion Control, Recordkeepin	1	L.S.		\$0.00		\$0.00		\$0.00		\$0.00		\$750.00
	b. Coir Wattles	60	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$9.00	\$540.00
	c. Silt Fence	190	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$5.50	\$1,045.00
	d. Rock Entrance Road	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$1,500.00	\$1,500.00
	e. Concrete Washout Pit	1	Each	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$750.00	\$750.00
	PAVING/STORM SEWER TOTAL				\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00		\$831,804.00
	TOTAL BID E				\$0.00		\$0.00		\$0.00		\$0.00		\$831,804.00
	TOTAL CONSTRUCTION COST			\$511,248.00		\$534,015.00		\$688,748.02		\$732,078.00		\$831,804.00	

				6 TI Sund C		7 Dan Bood		8 Plansi	ag 11 C	9 Nieleen C	ontropting
					onstructors		er Concrete		ng LLC		Contracting
					ton, NE		ey, NE		ey, NE		ey, NE
No.	Description	Qty	Unit	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	c. Cleanout	4	Each	\$250.00	\$1,000.00	\$150.00	\$600.00	\$175.00	\$700.00	\$800.00	\$3,200.00
38	Furnish & Apply Seeding, Mulching and Fertilizer										
	a. Type B	3	Ac.	\$2,140.00	\$6,420.00	\$1,250.00	\$3,750.00	\$2,100.00	\$6,300.00	\$2,000.00	\$6,000.00
39	Furnish, Install, Maintain & Remove Erosion Control										
	a. Sedimentation and Erosion Control, Recordkeeping a	1	L.S.		\$600.00		\$2,500.00		\$1,950.00		\$3,000.00
	b. Coir Wattles	60	L.F.	\$12.00	\$720.00	\$10.00	\$600.00	\$10.00	\$600.00	\$5.00	\$300.00
	c. Silt Fence	190	L.F.	\$4.50	\$855.00	\$7.50	\$1,425.00	\$8.00	\$1,520.00	\$7.00	\$1,330.00
	d. Rock Entrance Road	1	Each	\$450.00	\$450.00	\$1,500.00	\$1,500.00	\$2,550.00	\$2,550.00	\$2,500.00	\$2,500.00
	e. Concrete Washout Pit	1	Each	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00
	PAVING/STORM SEWER TOTAL				\$866,852.67		\$915,797.00		\$940,650.15		\$954,421.00
		AL BID B		\$866,852.67		\$915,797.00		\$940,650.15		\$954,421.00	
	TOTAL CONSTRUCTION COST				\$866,852.67		\$915,797.00		\$940,650.15		\$954,421.00